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Points employés

COTES 2/2, aig. pointes n° 3 et 3,5.
JERSEY ENDROIT, aig. pointes n° 3,5.

Echantillon

Pour réussir votre modéle, il est important de
tricoter I'échantillon.

Un carré de 10 cm jersey endroit = 24 m. et 31 rgs.

CHAUSSETTES A REVERS

Ol I (37738 |[ 39140 |[ 41/42 ]| 43/45 |
Qualité IDEAL Nombre de pelotes
Aiguilles pointes de 20 cm ;| Pavot 24408 2 2 | 3 H 3 |
n°3et35
Réalisation Pied:

Monter 52-56-60-64 m. aig. n° 3. Tricoter
cotes 2/2 en rond 8 tours aig. n° 3, puis continuer
aig. n° 3,5.

A17-19-21-23 ¢m (54-60-66-72 tours) de hauteur
totale, continuer jersey endroit en rond aig. n° 3,5
en répartissant 4 diminutions au 1er tour (= 48-
52-56-60 m.).

Talon :

A 20-22-24-26 cm (64-70-76-82 tours) de
hauteur totale, glisser sur une aig. 12-13-14-15 m.
avant et 12-13-14-15 m. aprés le début du tour,
laisser les 24-26-28-30 m. restantes en attente.

Avec les 24-26-28-30 m. glissées, tricoter jersey
endroit en aller et retour en laissant en attente 1 m.
au début de chaque rg jusqua ce qu'il ne reste plus
que 8-8-10-10 m. au centre.

Continuer en reprenant la 1ere des m. en attente au
début de chaque rg jusqu’a obtenir & nouveau 24-
26-28-30 m.

Tricoter jersey endroit en rond sur les 48-52-
56-60 m. pendant 9-10-11-12 c¢m (28-32-34-
38 tours).

Pointe :

Depuis le début du tour (= dans le prolongement
du milieu du talon), tricoter jersey endroit en
rond : 8-9-10-11 m. endroit, 1 surjet simple,
4 m. endroit, 2 m. ensemble endroit, 16-18-20-
22 m. endroit, 1 surjet simple, 4 m. endroit, 2 m.
ensemble endroit, 8-9-10-11 m. endroit.

Répéter ces diminutions en tricotant 1 m. de
moins au début et a la fin du tour et 2 m. de moins
entre les 2 m. ensemble endroit et le surjet simple
suivant encore 2 fois tous les 3 tours, puis 3 fois
tous les 2 tours et 3-4-4-5 fois a chaque tour.
Fermer les 12-12-16-16 m. restantes en grafting.

Au porté, plier les cotes 2/2 sur I'endroit sur 8-9-
10-11 cm.

Tricoter une seconde chaussette identique.



Stitches used

2/2 RIB, using 3.0 mm & 3.5 mm dpns.
Every round: *k2, p2* rep from *to*.

STOCKING ST, using 3.5 mm dpns.
Every round: knit

Tension/Gauge
To achieve a good result it is essential to make a
tension square.

24 sts & 31 rows over St st using 3.5 mm dpns =
10 cm (4 in) square.

TURN DOWN SOCKS

IDERL I (37738 | 39/40 ][ 41742 ] 43/45 |
Quality IDEAL Number of balls
20 cm dpn's: Pavot 24408 || 2 2 | 3 H 3 |
3.0&3.5mm
To Make: Foot:

Using 3.0 mm dpn’s CO 52-56-60-64 sts.

Work in 2/2 rib in the round for 8 rounds, then
change to 3.5 mm needles & cont in 2/2 rib until
work measures 17-19-21-23 cm (6%-7Y2-8"4-9 in)
[54-60-66-72 rounds] total.

Change to 3.5 mm needles & cont in St st in the
round, dec 4 sts evenly on the 1st round (= 48-52-
56-60 sts), until work measures 20-22-24-26 cm
(734-8%-9"2-10"4 in) [64-70-76-82 rows] total.

Heel:

Using a dpn slip the 12-13-14-15 sts before &
12-13-14-15 sts after the beg of the round onto
a needle and leave the rem 24-26-28-30 sts
unworked.

With the 24-26-28-30 slipped sts work in St st
(working in rows - K on RS, P on WS) leaving 1 st
at the beg of every row unworked until only 8-8-
10-10 sts rem worked in the centre.

Then pick up 1 st at the beg of every row until all
24-26-28-30 are being worked.

Cont in St st in the round on all 48-52-56-60 sts
for another 9-10-11-12 ¢m (3%2-4-4Y2-4% in) [28-
32-34-38 rounds].

Toe:

From the beg of the round (= in line with the
center of heel), work in St st in the round as foll:
k8-9-10-11, sl 1, k1, psso, k4, k2tog, k16-18-20-
22, sl1, k1, psso, k4, k2tog, k8-9-10-11.

Rep this dec (working 1 less st at the beg & end
of round & 2 less sts between the k2tog & the sl 1
, k1, psso) on every foll 3rd round twice, then on
every foll 2nd round 3 times, then on every round
3-4-4-5 times.

Graft the rem 12-12-16-16 sts together.

To wear, fold the 2/2 rib to the RS over the top 8-9-
10-11 cm (3-3Y2-4-4"4 in).

Make a second identical sock.



